This document explains what value of gain we have to set in Labview.

The first, we can get the information of gain register from manual.
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*: /D, B/U are not supported for PCI-1711/1711L

S Single-ended or Differential
0 single-ended
1 differential
BU Bipolar or Unipolar
0 bipolar
1 unipolar.
G2to GO Gain Code

table C-5 lists the gain codes for the PCI-1710/1710L.
table C-6 lists the gain codes for the PCI-1710HG/
1710HGL.

table C-7 lists the gain codes for the PCI-1711/1711L.




The corresponding setting value about Gain value is as below. (PCI-1710/1710L/1716/1716L)
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Gin | Range(y) . G2 Gt 60
1 51045 0 0 0 0
2 2510425 0 0 0 1
4 12510 +1.25 0 ] 1 0
8 -0.625 to +0.625 0 0 1 1
05 -10 to +10 0 1 0 0

NA 0 1 0 1
N/A 0 1 1 0
NA 0 1 1 1
1 0to 10 1 0 0 0
2 0to5 1 0 0 1
4 0to25 1 0 1 0
8 010125 1 0 1 1
NA 1 1 ] 0
NA 1 1 0 1
N/A 1 1 1 0
N/A 1 1 1 1





So we have to transfer the binary value of B/U and Gain Code to decimal before we set it. 

Example1: 
If we want to use the input range”-10 to +10” and bipolar range, the binary value is 0 0 1 0 0(the second value is 0 because the register of this address is empty).
The transferred binary value to decimal is 4. So the gain value is 4.

Example2: 

If we want to use the input range”0 to 2.5” and unipolar range, the binary value is 1 0 0 1 0(the second value is 0 because the register of this address is empty).
The transferred binary value to decimal is 16 + 2. So the gain value is 18.

It has the same rule to set the gain value in PCI-1711/1711L
But the S/D,B/U are not supported.
The corresponding setting value about Gain value is below. (PCI-1711/1711L)
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The corresponding setting value about Gain value is below. (PCI-1710HG/1710HGL)
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Input ’
Gain Rl s G2 61 60
i Stoss 0 0 0 0
W | 0510405 0 0 0 1
100 | 005104005 0 0 T 0
000 | 00051090005 0 0 1 1
05 | -10t+10 0 T 0 0
5 Ttoet 0 1 0 1
50 | otwed 0 T T 0
500 | 00110001 0 T 1 1
1 0010 T 0 0 0
0 oo 1 0 0 1
100 o0 1 0 1 0
00 | oot T 0 T T
WA T T 0 0
WA T T 0 T
WA 1 T T 0
WA [ [ T 1





The corresponding setting value about Gain value is below. (PCI-1712/1712L/1732)
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